-
B e
00% ‘101 ‘1€ I
HET
o E
00% ‘128 ‘Z 1
By R BV W
=
" 000 FLZ ‘82 1
HEET
908 ‘1. ‘6
._...mu
2 P 4 Unm
A" 596 ‘90L ‘¢ 1
SEEHIIN—
, A
“16¥ ‘612 ‘¥ 1
EEHI%Y
P NE
09¢€ ‘68L T I
HXEY S
HESF
61T ‘896 ‘81
) = -
+ 00 ‘LLE . 1
£ T B R
> =S
1 ~01L 9% I
4 £ THREXE
=
[ Aoy pe1 g1 I
ETEH
HETHE
B 5% T} & k=24 i N4 %

ETMENCHEIYIEEHHY < % £ T >

TMEMEET




761 ‘845 ‘81

e

0€0 ‘LLE
£ TR
0TL ‘9F
ETYREEE
¥8% FET ‘81
ETHH
&% = 7 Z

MERAEELE T




7Sy FET ‘81

d

68% ‘€11

£ T )R

696 ‘020 ‘81

ETZiEY

B2

4

e

X%

%

MEMIEEHE £=T=#H




696 ‘020 ‘81

4£
jAcs
998 ‘22
R IZET S
Uulh
- 096 ‘T2l ‘e
g9g
N
~ 180 ‘188 ‘S
21
=
198 ‘111 ‘S
2P
s
1%9 ‘LLT ‘€
‘ HyEE
& B % ) = = i N4 %
ET I

MEMIEEY 1=




179 ‘LL2 ‘€

e

08T ‘1.2

G000-00 N L8 YU ElEsE
90G ‘LLZ
7000-00 W% M
€€G ‘og¥
£000-00 MY =23
28L‘S61C
2000-00 YHMI% &g
069 ‘8L
1000-00 Mg FE
-} BE < o) = Y4 %
E TS

EMIEHE =T1%#E




178 ‘11T ‘G

1z
E
298980 % I
23
& ¥
6.6 ‘G20 ‘T 1
2L
B & NH| B X% g -4
Zhlea ETHMIEY

MEMIEE s ET1EE




6.6 ‘G20 ‘T

2
I3
062 ‘Z 062 ‘Z 1
WA
a
61 ‘681 068 ‘6 €61 SEXEATL
SAL+IEHESE| B R
w
08T ‘08T 0LL g6l
FEF 2 NS
o
028 ‘€89 0€6 ‘¢ PLI {6 VL CBEY CFREEE o
T3 > PIEZR | MRS YK
&) B2 & o) ) & E b = Bt N4 %
i 2V £ T ZMmis

EMIEEEY FETEHE




00§ ‘211

9000-00 Y NIAGA
0%6 ‘756 ‘1 0Z¥ ‘s
OEBEYE - FH o <
MLy - BTE 0TI EEH
DHE(CEGEE WOoX 6T T
Y 24N FTERE T-X AR
08Z ‘292 ‘1 019°g G
M - B Hk (F - BHTE)
4 (TEEH)
DR FTEE 7k
Yy oL TR 7-X YLEZ
<E TN >
808 ‘922
8\
$40 ‘G1 081 123 ETSATARY HIL TR
OIS WAy &
00¥ ‘52 00¥ ‘52 HOV1~0G ¢
HRIEE EX 1 HEW
veL ‘61 0€5 ‘7
T B Y WA 64N g q
088 ‘92 08¥ ¥
BT B2 et L2 AN
/348 0
009 ‘702 0€6 WH 2K B (| S E A L
: it NLE S
009 ‘951 006 wWH . A4
: A VLN MY - T b WEHL . 21y
0%S ‘8L7 061 (BdWGT~BdNOT) 30 L H 2!
G - Bk A
- <ETHEWHEL >
-} =17 & i b B B A4 %
- 2y =T 2%

EMITHEY =TEE




298 ‘680 ¥

1
¥9¢ ‘T
2\
w FYHTHW
¥8L°C opL ‘1 9°1 (X EZ) SRR L Bd EHTZm
EA% G6FEd A
w FHETHW
085 ‘T 086 ‘T 12 Y E BT L B4 g
i 6&da
EIgE
<ETEZ>
069 ‘71¢€ ‘¢
.T.m/_.\
) =57 5% ) Y = = X% Bt N4 %
23 2 xR £ T

EMIEEE =T1%H



L50 ‘288 ‘G

d

: hc=
162529 ‘¢ I
273
o2
09L ‘192 I
e
4 B Nw| B % i %
= ET IRV

01

MG E I ETHEHE




092 ‘192 ‘C

£
w
09T ‘LET 0LL 80¢
FHF b2 N (A
o
082 ‘61 028 ‘¥ id
FET Fml FWM)4EE
w
02Z€ ‘500 ‘Z 0€8 ‘6 702 FYm WL
AL+ RS BSR4
) BY 5% ) ) = e bt B N4 %
FH 2R FENS ETEMs

11

MMIEEHEY HET=E




M EEAsrT L 09X80T & H\f¥
000 ‘96 000 ‘¥ i4 ¢ By B
OEEFER O Zo) (TS
m
096 ‘61 068 ¥ 4 1T N Wy au NI 24|
DR 4 O BANEER
<ETA V&>
By 5TV
003 ‘€02 ‘2
+wm/_.\
7 HTZ) N
007 ‘€02 ‘2 008 ‘01 $02 AT LTI >
LA S P (BRI A G o X — AUy &F
<&ETYL>
B ) £V
ZL1°LES
.T.m/?
UM
78 ‘9¢¢ 1
2000~00 MENE NAERA
w
016 ‘2 0162 1 W/ 5y
QUL L HR2H
mx
09L ‘8¢ 061 $0% AN
(BdKST~BANOT) S & AV 5T
w
021 ‘65T 08. ¥02 Singnnye
£ 809 Ay 5T
<HETHEWHEL >
WA ) £ FE
089 ‘68
el
o
089 ‘58 0z¥ ¥02 (Z)FEis)
BV IREDAANT AT EHERTHY
<EHEEWTH>
H ) £ 3wy
& B Z 2 I H =] X% = B N4 %
25 2 RN £ T Z 3l

4

MEMIEHE =T%HE




L62 ‘629 ‘¢

42
689 ‘€89
2\
a
000 ‘0£9 00€ ‘9 001 (31-0%
W) Yd—<L£—o (F¥ELL) B Z B Ty
w
000 ‘61 061 00T
rgm_m\..v_N
o
689 ‘p¢ 0gg 1°66 (Z)a5Es)
. HRAZT - B EEEERTY
<EH
N ST F e >
EEHN
W A Lys
098 ‘GT1T
._,m/_‘\
4 BY 5% ) ) = b = B N4 %
Z)5R 2V MRFEANG E T XM

€l

MEMIEERY H=T1%HE




095 ‘T2L ‘¢

12
™
005 ‘T¢ 005 ‘1 12 HI B F 1
—0bFENV—£Y
gy
002 ‘121 00¢€ ‘08 id & £ B
¥EHIAUL
gy
000 ‘822 000 ‘281 i NS
00£-0£6=M WIEIAL
w
006 ‘98T ‘T 000 ‘€1 €8
0£6=H YHIAUL
w
096 ‘€59 ‘T 00L ‘€S 8°0¢
00€=H VI SAL
&) =5 Z s ) = = bicd Bt N4 %
R ETERIEVs

4!

MEMIEEHEY F=TEHE




998 ‘22

12
¥
998 ‘22 I
L - WE
g B T TN#E| FE ¥ s %
EEANAZER S ETZRiEY

61

MEMIEE R ET%E




998 ‘22

42
=
354 4 1
1100-00 Y& LM LALgE
um
" 0£1°C 1
0100-00 Mg 2L Al AL TS
=
125 ‘el 1
6000-00 N 2L MME W F
=
0€9 ‘L I %%
8000-00 N D2LOWE| Vo HEENEH
&) B & o Y = =] i " J4 %
[EANAZETR ETZMREHs

91

MEMIEEHEY FETEHE




687 ‘€11

d

s
988 ‘0. 1
RESR
E
£09 ‘2 I
: e
4 B < TN#H| B ¥ i %
ETZRiEM

L1

MMIEEY ET1xmE




€09 ¢y

£
jhes
025 ‘2
9100-00 MY YRR d—4 (&Y
=
L7¢€ ‘81
G100-00 YME LR YD REETE
jhes
296 ‘1
7100-00 WY e
E ¥
0F¥ F1
£100-00 Mg LR
=
¥9¢ ‘g
2100-00 Ny FE
4 B < o) I = = i gt N4 %
FEHHE E T2l

81

MEMIEEHEY F=TEE




988 ‘0L

988 ‘0L

1

25

&

) &

=
=

¥%

S

%

21ES

ETZ)R %

61

MEMIEE R =15




988 ‘0L

£

w
81¢ ‘T 09% ‘1T €82 (HXEZ) BaIGEER L EHOZm
G¥—)BEEHT A 4Ax 6&dd

joss

895 ‘62 087 ‘¥ 9°9
FLT Y B A s R L g
8 HY 5% ) ) | =] i == B Y4 %

23R FRFEZ ETZ)7RMEM

0¢

EMIEEHY F=TEHE



0T. ‘9F%

N
0TL ‘9F
M HIY
u) o T T = % ™ T
te N A )




il-3

+#

01L ‘op
VM
01L ‘9%
)R ) B S A B
m w =z T} = i # :
42-]:hv4

EMGEN El0R5E

éc



0TL ‘9%

#
Uuln
0TL ‘9F I
L100-00 ¥1% QRGN G
) B z W = | THE| B X% = B 7 %
HER B E B MY B HY

MMGEN £lO0SE




0€0 ‘LLE

e

©0€0 ‘LLE

HEY

4

T}

L

¥

W

%

EMIEEHE =T HEMH

4




0€0 ‘LLE

1
E
028 ‘8% 1
_ ETEY
09T ‘€9 1 )
. e
069 ‘991 T
. L Eee e
09€ ‘86 I
Yy
&) B Z N#E| F 7 %
By

514

MEMIEEY ST




09¢ ‘86

42
E
09€ ‘86 I
YEE
B < e B % e %z
Bl FEOLpE a7 I

MEMIEEh S THREMH




09¢€ ‘86

jg
N
09L ‘02 1
9£00-00 WY P
e
009 ‘L. I N
GE00-00 MNL T ,
) . BY & oy T =3 i Bt N4 %
H)xE 2 H 2y e 57 HE Y

L2

MEMIEE B =T IR




069 ‘991

£
jAcs
01. ‘9%
8200-00 WY Il
e
086 ‘611
L£00~00 YNHY o
) By & s ) #H X% B Y4 %
L[ pIAS 43104

8¢

MEMNEE Y &= T H 2




091 ‘€9

091 ‘€9

B RESY RN

3

T}

=
=

%

W

%

ey Rt

B I

6¢

MEMIEE g FTHREEH




0971 ‘€9

4
=3
09. ‘02 1
0¥00-00 BiE EGT R SN N Yo
jacs
00% ‘Z¥ 1
6£00-00 MY B
& B & o = L) = E % = B J4 %
BRSO R E H X2 gL B HEY

MMIEHE = THREMH




078 ‘8

12
NE
0%¥ ‘8 F
£H00-00 YWY T S EE
=
00T ‘€2 L
ZH00-00 MY R A
=
082 ‘L1 W
170000 M[i¥ AR BHGIE
&= &) B < o I = X% HE A4 %
£ Tl B EY

1€

MEMNE E Y &= T H) X2




069 ‘8L

£
wu
056 ‘6% 08¥ 111
(FRTA) FE
jii}
0%. ‘82 09 6LY @ T &)
(-A-EE) Ny e s T EE TE
jes
069 ‘8L 1
1000-00 WNY FFE
& B Z Ui ) = g ¥ = B N4 %
e ET s

a3

By EEYNE ETEE



Iy

08¢ ‘9 061 ‘¢ 14 == THE
B/ YT 2y
o
029 ‘92 002 ‘2 'zl
FEL v
™ —
0z¢ ‘01 081 '89 DEEEG H¥¥E OSLLUYG-LE)
HEH Y E G-EETE
il —
$28 ‘1 0€2 "89 QEHEEZ HEHOHY| =LY G-LE)
A HE R B 0LETZE
ur -
Y0L ‘T2 0ge 89 e Q4L 0-bF)
H% B~ R GLETZE
& - - beuzy
ZL1 02 01% 6% DREEED) H¥F QLD 0LE)
T X00SHLE  00L1X009 ~EE G B
wu - - BNzl
940 ‘9% 0£5 ‘6% QEHEEZ B H| OFHLIG-LE)
X1 X 0097 Uk 00L1X009 #HF % YA
w - - bisug]
889 ‘08 0%9 ‘1 6% Bl wE Q49 0 4E)
I X005y  00LTX009 HE L Y B
W - ~ Wikuzz
008 ‘601 08¥ 444 DNEEFED H¥FE  QELLUY a-bE)
0FZ+00874 U 00LT X006 HE L Y B
o - - Whcwzg
080 ‘61 0LS 444 DEEED HEHOHY| (BLLYGELE)
0FZ+00SH M  00L1 X006 T LR CEA
u - - Wiyugg
000 ‘88% 000 ‘2 444 WiE g QL LY a-bE)
0% Z+00G74 L 00L1 X006 #HF &
w - - Hgugy
00¥ ‘681 05¥ z1¥ DREEEZG H¥FE QLU 0LE)
0F2+00S+4 4y  00L1 X006 #F L R
w - - Hiypugz]
096 ‘882 088 Z1% DEEED B H0HY (O=LLUYG-E)
0FZ+00S7 . 00L1 X006 E LY
u - - Hhkugy
009 ‘1%L 008 ‘1 454 Bl QR4 LA 6 £=E)
0 Z+00Ga 00LT X 006 = E & B
=
78 ‘661 Z 1
Z000-00 & L is
&) BE < oy Iy = 2 X% & e N4 Z
e £ T ZRRI34

€t

By EENE E R




£€g ‘og¥

#
udﬂ —_
€€¢ ‘sT Ly 689 - NEEHEY H¥YF
BEI3rd|  aER{-4FELIG
m —
0%¢ ‘28 09 €S - REXE#EZ HEH0SHYW
BIvY oS {AFTERIM
u ) =
098 ‘86¢ ovL 6£9 - [=E AT
BTy aFR{-4FEXC
E=
£€8 ‘0% 1
£000~00 YNY JrE£3
76L €61 Z
44
w
ZL0 ‘LS 0%9 ‘T 8 ¥ REME HFE EHOHW
GBEY—FH THx
w
ZL0 ‘11 02¢ 9°7%¢ REEME G
ig=l &N
w
1291 062 ‘1 €1 DB EME
0071 G| AL L
m
960 ‘¢ 062 ‘1 4 DB EHME
00271 G| 4L
jasg
119°L 062 ‘1 6°¢ DNEEME
00011 | L4 L L
i<
0%¢ 0.2 4 ¥
£ ARG A H
e
0%0 ‘1 028 4 kB HOOH
B\ A
; ¥
7616612 1
2000-00 Mg L e
-3 BY & o ) # = X = HE Y4 %
Y ET1TZRIes

¥

B REYE ETmE




081 ‘1.2

42
o
08¢ ‘GL1 086 ‘1T 111 (Z)masEs)
L8 Y PR lEE
w
008 ‘56 002 6L¥ (E¥NTE)
(4T NEEE | AN HRUEES
=
08T ‘1.2 1
G000~-00 Mg AN H P U
"90% ‘1.3
42
¢
0%s ‘1 0LL 4 (=)
B/ g WE
m
892 ‘¥1 01¥ 8 'pe (#TYEHE)
WE
wu
168 % 6 6£S (B k- 4-4)
Py
wr
efs ! 6. 889 (G-L2TH)
L L3 6 b)) HET Y ME
o Q=L 3 0 -6E)
252 ‘s1 01g 2 6% (&2 B
009 Bl Y ME Y
o =L L% 0 -63F)
091 ‘087 09¢ 959 (%2 )
(=) 006 Bl B MENEY
=
905 ‘LL2 1
$000-00 MENE MEWEY
8 BY =% e I ® E X% = e N4 %
XX EE £ T iy

ge

B HEYIY E1mE




009 ‘L11

o

w
00§ “L11 008 g€z 01X 0T
(C-SW) ¥A-c (443 SR — A4
U.m
008 “LTT I
9000-00 g% WA,
) B 4 ) w| H X% BY g %
23 2 xaNcy ETZ Ml

9¢

BYEEHIY ETaEE




78 ‘9g¢

4
o
626 ‘81 0L0°‘1 JAA L AT 9L 4 T-4S (D [l
LA AEGR| (2GR RIEL N
wr
000 ‘09 008 021 01X 0T
(2-SW) $A-C(AAHIE I3l — NARE
w
£9¢ ‘86 0.9 ‘1 6 "8G 01X G1
YA (4L SEXH— NS
w
8¥¥ ‘26 0v1 ‘2 A 01X 02
RGN (4L SRR — NAES
oL
280 ‘L9 0121 Z '6€ 0Z X072
YEAGALA (4L UE Y — NIAES
S
781 °9¢¢ 1
L000~00 Ny NIAEA
& BY 5% W o= T} &= E i B J4 %
Zhxp 2RI £ T Mg

LE

B REYNE SETEH




125 ‘€1

42
g Lm0 o1 1 #EXAIa
098 ‘v 00Z ‘91 HEL DYL K \43-{17a'e WMEHT X
ez GELY LA gz
mcm
198 01¥% ‘8 WEF
B fYL L 1k20=
ew A4 yawio 91 1 sEIXaAIa -
007 ‘9 00% ‘21 e (20 FHFZ Ly YELY WEAFHE
WEAT SN 14262
guw 4 yAms Lz 1 EEXaa
029 ‘1 002 ‘91 HLS>ED YEY WE A E
WET (0L Lh 1203
=
128 ‘61
6000-00 MM 2 LOWE BT
0£9 ‘L
4
mcu
£¥¢ ‘2 018 °L 4%
. (W) &) BEmE - £OY Ly VLHHEWATY
mE
109 010°9 %
BA4vL (| VEIEE NS
mﬁ.ﬂ
806 ‘¢ 018°L “*
(BT b)) BRUY| VoEEEWT Y%
mE
184 018°L “*
: ML SHD| VYHEEWTH
jhcs
0£9 ‘L %
8000-00 N DELOWEY VI EEENT
8 B =2 ) I} H & X% B [Ex N4 %
Loy - BgE [RANAZE TS ETZRIEYs

8¢

B REYHNE ETEH




18 4

=]

54 4 008 ‘17 W 10°0
=k LEL gL
=
154 4 1
1100-00 ¥[iE 2 LELGY
0€1 ‘7
gt -
00¢ 000 ‘1 €0
() g) BESEmE - £ oYLl Lo W F 3
cur
00€ 000 ‘€ 1°0
MEaLYL /L CWHTH
eur
0£5 ‘T 090 ‘€ g0
(B RUsW) SRy Al e
NE
0€1 ‘2 1
0100-00 MK 2L AL ILET
) B - oy I = E ¥ B E% %
‘ Lomy - BE A ET ETAXEY

6¢

B REYHNE ETEE




ovy ¥1

k]
o
9¢. 091 9¥
DEEED W¥FE LT PHAUM
U
996 012 9%
DEEEZ HEHCHY SR THHEEEM
w
¥H1 ‘21 079 ‘¢ 9%
BENTHE ST HEAEM
T N EFHOBH G
$69 0gg 81 FHEYEGEZ ST &)
A Y3uo pie LT HEM
pe
0%¥ F1 1
£100-00 YO iR
$9¢ ‘s
£
w
890 ‘¥ 021 6°6¢
Lo T (Fised) HE
1031
962 ‘1 0z1 8°01
HUXETED (1) T2
=
¥ ‘S 1
2100-00 MM T E
) B Z o I = =1 X% [ 4 %
FEX = E E T 3lskd

ov

B EENE ETEE




028 ‘C

42
wr
0258 ‘2 0z¥ 9
2B HSHE heeE d—4 (yFEY
=
025 ‘2 1
9100-00 BN ViR A —4 (yTEY
128 ‘81
12
u
668 ‘€1 01¥ 6 €8 (Zh3a5ERd)
CEEY R AN YBUEESE
m
82% ‘b 01¥ 801 (Z) a8 Rd)
FHEXESEDR P YBEEE
=
178 ‘81 1
G100~-00 BNg L Y EE
296 ‘1
+
o &ETH
¥6L ‘1 06¢ 9°F M)
Wy
wu (&I
'8G1 88 8°1 LETHIEM)
&g MEHTEY
=
256 ‘1 1
$100-00 WL MEL Y
&) =17 <2 ) Iy # =] bii B N4 %
FEXEE ETZ AR

I8%

B EEYNE ETEH




012 ‘9%

1

059

099

Tl

=P
FWA—Sx 2

09. ‘81

089 ‘2

91-3dA

e
< e BB

00€ ‘L2

006 ‘¢

8¢-dA

Hae
c AWl SR

L100-00 Y¥N¥

01. 9%

LR 8

&)

4

o

B

s %

B

474

WEWE % LOREE




09L ‘02

B
099 ‘ST 068 ‘¢ i4 SEVD
e
B
002 ‘¢ 00¢ ‘1 id R’
BT
NE
09/ ‘02 1
9€00-00 WN¥ IR b Y2
009 ‘L.
12
w
009 ‘LL 00. ‘6 8 : &
Y001 YAALY ~EH| LA LHANFHY
N
009 ‘L. I
Ge00-00 MM T
&) =57 N o) T # =1 b = B N %
B0 2 0E Bl Xy pEe M ERY

97

WY HENE =T R




01L‘9¥y

B
010 ‘ce 068 ‘€ 6 B2
HHHE
B
00L ‘11 00€ ‘T 6 BR"2
HEEX
VM.
01. ‘9% 1
8200-00 MY HEE
086 ‘611
42
w T3
086 ‘611 0L9°8 ¥1 WAty EG HEVWE
AL B S
e
086 ‘611 I
L£00-00 YN LI
) BE 5% U2 ) & E b2 Hi €4 %
B FENCY HEY

474

B EENE ST R IR




09. ‘02

23

095 ‘1 068 ‘¢ iz PR
BTHX
002 ‘S 00¢€ ‘1 2 Rt
BT
09L ‘02 1
0%00-00 Mg DEGHTLIX ZNE] Ly e
00% ‘2
i
Y03
00¥ ‘7% 009 ‘01 4 Wsvanty ES THEWE
ALY 8 By gk
00% ‘¥ 1
6£00-00 B4 my
) BY il =] Bt J4 %
B XEH Y RS HEYY

IEITNE R




ovy ‘8

1£
w
0% ‘8 0112 4 F
TR S L
jes
0%¥ ‘8 1 Fi
£F00-00 MK T4 S Y EE
001 ‘€2
L]
wI
001 ‘€2 089 ‘1 fal e
B SR
N
001 ‘€2 1 FW
Z¥00-00 Y% BRSNS
08%Z ‘L1
BE
w
08Z ‘L1 091 ‘2 8 Fi
N2 e
NE
082 ‘L1 1 3
1700-00 M¥NE SO EHSIE
#l 257 & ) I = g % B N4 %
=T M EEY

9¥

(IR (2




2S¢ ‘268

e
P =
/1 000 ‘€zt
7£00-00 g (e Y maEy) HEmEax EHYTZ
= HS
009 ‘6. uzl R =)
L 08#er e E¥ e
s
088 ‘91
£800-00 MY 22=1 WEEREY)
=
- 00L ‘06
2£00-00 Ny ug Ty ‘W 9=p { & Lyvrdr
N
ZLT ‘191
1£00-00 N4 ug ‘1=H YATL = I
=
000 ‘162
0€00-00 YN (=N /=NLLL
) =17 Z W = ) = S b 1 B N4 %

Ly

BfRE (7B EXENESF




00. ‘06

k]
Ly
00L ‘06 00L ‘06 1
H<¢9BIE) ug Ty ‘WQ "g=f | & Lnede
=
00L ‘06 1
7800-00 N ug Ty “uQ ‘9=p | —&Lyrdn
7.1 191
12
w
$971 ‘01 0%1 9°2L (2zL A= )
ME Y
w
028 ‘p1 002 92 NEEEY H¥F
FEZEME U I=H LAEL - N
ur
¥LT ‘801 06% ‘T 972 DEHEHED B HCIEY
FEZEHE U 1=H LATL -
wI
v1¢ ‘82 06¢ 9°ZL = ATHE
FETEFEME U8 1=l LATL =
=
2.1 ‘191 1
1800-00 MY ug “1=H AT S
000 ‘162
12
g
000 ‘162 005 ‘8% 9 ;8 (% L AR
HE R4 0 3191 TEBL -/~ AELL
N
000 ‘162 1 ;
0800-00 N (= Aff=NLLL
-] B2 % o) B T) &= 5 bisd 2 Bt N4 %

8Y

IR B YK 1 g B

(B & XEMae




000 ‘€21

12
Y
000 ‘€21 005 ‘02 9
((HYEadEy) FRETY BEHYTZE
=
000 ‘€21 1
$800~00 W& (Y Euddy) EEgEEy ELHTH
088 ‘OF1
12
a
088 ‘02 088 9¢
BB I X
jisi
02 ¥ 021 9 - WUZZ X 9609 X ¥ZST
WEXE HEYE s
w
0%0 ‘1% 0F1 ‘1 9¢ VA %9 mZZx9609X¥ZST
WY ¥ HO0ZTHY WHEEY
jisd
0Z¢ ‘0% 021 ‘1 9¢ - WUZZ X 9609 X ¥2SG1
MEYE I WExEY)
801
0Z¢ ‘0¥ 021 ‘T 9¢g ~ WHZZ X 9609 X $2G1
BN HEX Wy
=
088 ‘O¥1 1
£600-00 Mg 2z=1 W)
&) HY < ) I = =2 b2 == Bt A4 %
67 BFEHME R (7 8 XX



